
 

4/10/2025 www.lankota.com   |   Lankota Inc. Page | 1 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

LANTB86915 

Installation Instructions 
Lankota JD Hinged Draper Header Toolbox 

FITS JD HD45F & JD HD50F Headers 

270 West Park Avenue 

Huron, SD  57350 

866-526-5682 



 

4/10/2025 www.lankota.com   |   Lankota Inc. Page | 2 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Numerical Parts List 

 

Part Numbers Description Qty 
LANTBJD100-A Toolbox Assembly 1 
LANTB869A JD HD Toolbox Mount RH 1 
LANTB869B JD HD Toolbox Mount LH 1 
LANTB869C JD HD Toolbox Support Bracket 2 
LANTBH003-CB Toolbox Mount Connecting Bracket 1 
RED305K 3/8” x 1.25” Carriage Bolt 2 
LAN18A32 3/8” x 1.5” Carriage Bolt 4 
LAN506K 1/2” x 1.5” Carriage Bolt 4 
LAN22000 1/2” Flat Washer 4 
LAN1137030 1/2” Nyloc Nut 4 
LANFB305 HHCS 3/8” x 1.25” Gr.5 Bolt 4 
LAN1618000 3/8” Nyloc Nut 10 
LAN18000 3/8” Flat Washer 14 



 

4/10/2025 www.lankota.com   |   Lankota Inc. Page | 3 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Pictorial Parts List 

LANTBJD100-A (1) LANTB869A (1) LANTB869B (1) LANTB869C (2) LANTBH003-CB (1) 

RED305K (2) LAN18A32 (4) LAN506K (4) LAN22000 (4) LAN1137030 (4) 

 LANFB305 (4) LAN1618000 (10) LAN18000 (14)  



 

4/10/2025 www.lankota.com   |   Lankota Inc. Page | 4 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 2 Refer to Figures 1 - 3 

1. Set JD HD Toolbox Mounts (LANTB869A & 
LANTB869B) down on a flat surface and separate 
mounts so that the inside distance between the 
two measure 17 3/4” apart. 

2. Install Toolbox Mount Connecting Bracket 
(LANTBH003-CB) to JD HD Toolbox Mounts 
(LANTB869A & LANTB869B) using provided 1/2” 
x 1.5” Carriage Bolts (LAN506K), 1/2” Flat 
Washers (LAN22000) and 1/2” Nyloc nuts 
(LAN1137030).  Ensure that inside measurement 
on JD HD Toolbox Mounts measure 17 3/4”, 
tighten hardware. 

Figure 3 Figure 1 



 

4/10/2025 www.lankota.com   |   Lankota Inc. Page | 5 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 5 

Refer to Figures 4 - 6 

3. Take JD HD Toolbox Support brackets and loosely install onto header using 3/8” x 1.25” carriage bolts (RED305K), 3/8” flat washers (LAN18000), & 3/8” 
Nyloc nuts (LAN1618000).  NOTE: Bottom hole indicated by arrow. 

4. Once Toolbox Support Brackets are loosely installed, take JD HD Toolbox Mounts with Connecting Bracket and set on top of Support Brackets.  Bolt 
together using 3/8” x 1.5” Carriage bolts (LAN18A32), 3/8” flat washers (LAN18000), & 3/8” Nyloc nuts (LAN1618000).   

5. Make sure JD HD Toolbox Mounts (LANTB869A & LANTB869B) are sitting flat on header and spacing between mounts are measuring 17 3/4” apart 
from one to another.  Tighten hardware. 

Figure 6 

Figure 4 



 

4/10/2025 www.lankota.com   |   Lankota Inc. Page | 6 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 8 Refer to Figures 7 - 9 

6. After ensuring that mounts are flush with sheet steel on header and spacing is 17 3/4” from one to 
another, take a drill with a 3/8” drill bit and drill through header sheet steel using holes in JD HD 
Toolbox Mounts as a guide. 

7. Once holes are drilled, take HHCS-3/8” x 1 1/4” Gr. 5 bolts (LANFB305), 3/8” flat washers (LAN18000) 
& 3/8” Nyloc nuts (LAN1618000) and bolt mounts to header sheet steel. 

8. Make sure all hardware are tight to mounts and remove Toolbox Mount Connecting Bracket. 

Figure 9 

Figure 7 



 

4/10/2025 www.lankota.com   |   Lankota Inc. Page | 7 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 11 Refer to Figures 10 - 12 

9. Using four 1/2” x 1 1/2” carriage bolts (LAN506K), 1/2” 
flat washers (LAN22000) and 1/2” nyloc nuts 
(LAN1137030), bolt the toolbox to the mounting 
bracket.  

Figure 12 

Figure 10 

For further technical assistance, 

Call Lankota Inc. at: 

1-866-526-5682 


